

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 15, 2022

	Progress Estimate Number	Contract ID	220415-H08	Pay Period Start	See NTP Date	Original Contract Amoun	<b>t</b> \$1,107,598.50
	1	Prime Contractor	Road Runner Safety Services, Inc.	Pay Period End	August 15, 2022	Net Change Order Amount	\$0.00
L						Current Contract Amount	: \$1,107,598.50

Approval Date		By User
August 15, 2022	Generated and Approved (and should be considered Draft) at the Project Office Level by	ingral1
August 15, 2022	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	HILLSD1
August 18, 2022	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
March 1, 2023	March 1, 2023		0.76%

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	May 4, 2022	May 4, 2022	
Letting Date	April 15, 2022	April 15, 2022	
Notice to Proceed Date	June 6, 2022	June 6, 2022	
Open to Traffic Date			
Work Began Date			

Contract Total Pa	ny For Estimate No. 1				
		This Estimate	Previous	To Date	
220415-H08					
	Total Posted Items Pay	\$8,446.50	\$0.00	\$8,446.50	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$0.00	\$8,446.50	
<b>Contract Total Pa</b>	yable This Estimate:	\$8,446.50			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J9S3861	0030	9031270A	2 IN. PSST POST - 12 GA.	LF	\$12.250	282	\$3,454.50			
	0040	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	LF	\$19.000	96	\$1,824.00			
	0050	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$33.000	96	\$3,168.00			
Project J9S3861	Project J9S3861 - Total									
Overall - Total							\$8,446.50			

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3861	0030	2 IN. PSST POST - 12 GA.	Material			-282	\$12.25	(\$3,454.50)
	0030	2 IN. PSST POST - 12 GA.	generated Material Payment Estimate I Adjustment (0001) due to user ing overridding Payment Estimate Exception		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	282	\$12.25	\$3,454.50
	0040	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material			-96	\$19.00	(\$1,824.00)
	0040	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user ingral1	96	\$19.00	\$1,824.00

Revision 4/1/2020 Page 1 of 7

\$0.00



Total

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 15, 2022

	Progr 1	ess Estimate Number	Contract ID Prime Contractor	220415-He Road Run Inc.	08 ner Safety Se	ervices,	Pay Period Start Pay Period End	See NTP Date August 15, 2022	Net Change C Amount	rdor	0.00
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type		Commen	ts	Adjustme Quantity		Adjustment amount
J9S3861						overridd	ing Payment Estir the current	nate Exception 2 Payment Estim			
	0050		F-FLAT SHEET LUORESCENT	Material					-(	6 \$33.00	(\$3,168.00)
	0050 SHF-FLAT SHEET FLUORESCENT		Material		gene	adjustment offsets rated Material Pay Adjustment (0003) ing Payment Estir the current	ment Estimate I due to user ing	tem ral1 3 on	6 \$33.00	\$3,168.00	

Revision 4/1/2020 Page 2 of 7



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9S3861	FAS- S704(067)	Sign installations	Various	VARIOUS	of chevrons at various	locations in the SE District	
Totals by	Job Number	s					
J9S3861					This Estimate	Previous	To Date
J9S3861	Posted	Item Pay			This Estimate \$8,446.50	Previous \$0.00	<b>To Date</b> \$8,446.50
J9S3861		Item Pay Item Adjustme	ents				
J9S3861			ents Gross It	tem Pay	\$8,446.50	\$0.00	\$8,446.50
J9S3861		ltem Adjustme		tem Pay	\$8,446.50 \$0.00	\$0.00 \$0.00	\$8,446.50 \$0.00
J9S3861	Gross	tem Adjustme		tem Pay	\$8,446.50 \$0.00 <b>\$8,446.50</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$8,446.50 \$0.00 <b>\$8,446.50</b>
J9S3861	Gross Incention	tem Adjustme	Gross It	tem Pay	\$8,446.50 \$0.00 <b>\$8,446.50</b> \$0.00	\$0.00 \$0.00 <b>\$0.00</b> \$0.00	\$8,446.50 \$0.00 <b>\$8,446.50</b> \$0.00

Revision 4/1/2020 Page 3 of 7



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3861, Item 9031270A, Project Item Line Number 0030, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certification requested and awaiting submittal	ingral1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3861, Item 9031271, Project Item Line Number 0040, Material Set 903127196, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certification requested and awaiting submittal	ingral1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3861, Item 9035069A, Project Item Line Number 0050, Material Set 9035069A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Certification requested and awaiting submittal	ingral1	Overridden

Revision 4/1/2020 Page 4 of 7



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220415-H08	J9S3861	0001	0010	6161005	CONSTRUCTION SIGNS	201.00	0.00	201.00	SQFT	0.00	\$6.50	\$0.00
		0001	0020	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$10.00	\$0.00
		0040	0030	9031270A	2 IN. PSST POST - 12 GA.	43,392.00	0.00	43,392.00	LF	282.00	\$12.25	\$3,454.50
		0040	0040	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	9,720.00	0.00	9,720.00	LF	96.00	\$19.00	\$1,824.00
		0040	0045	9031278	OMNIDIRECTIONAL POST ANCHOR FOR 2 IN. PSST - 12 GA.	1,128.00	0.00	1,128.00	LF	0.00	\$25.00	\$0.00
		0040	0050	9035069A	SHF-FLAT SHEET FLUORESCENT	10,920.00	0.00	10,920.00	SQFT	96.00	\$33.00	\$3,168.00
	Project J	9S3861 - To	tal Value	Posted to D	Date as of Report Generated Date							\$8,446.50
220415-H08 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$8,446.50

Revision 4/1/2020 Page 5 of 7



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3861

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	9031270A	2 IN. PSST POST - 12 GA.	8/4/22	8/15/22	136.00	LF	Shannon County Rte. F s 0.749-1.077[2 curves]	0.749		1.077		7 ROC 9 LOC 0.749-1.077[7+9 signs]
			8/5/22	8/15/22	146.00	LF	Shannon County Rte. F s 0.059-0.259[1 curve] 0.548-0.82[1 curve]	0.059		0.82		9 ROC 7 LOC 0.059-0.259[9 signs] 0.548-0.82[7 signs]
0040	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	8/4/22	8/15/22	48.00	LF	Shannon County Rte. Fs 0.749-1.077[2 curves]	0.749		1.077		7 ROC 9 LOC 0.749-1.077[7+9 signs]
			8/5/22	8/15/22	48.00	LF	Shannon County Rte. F s 0.059-0.259[1 curve] 0.548-0.82[1 curve]	0.059		0.82		9 ROC 7 LOC 0.059-0.259[9 signs] 0.548-0.82[7 signs]
0050	9035069A	SHF-FLAT SHEET FLUORESCENT	8/4/22	8/15/22	48.00	SQFT	Shannon County Rte. Fs 0.749-1.077[2 curves]	0.749		1.077		7 ROC 9 LOC 0.749-1.077[7+9 signs]
			8/5/22	8/15/22	48.00	SQFT	Shannon County Rte. F s 0.059-0.259[1 curve] 0.548-0.82[1 curve]	0.059		0.82		9 ROC 7 LOC 0.059-0.259[9 signs] 0.548-0.82[7 signs]

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 6 of 7

Aug 19, 2022



### Line Item Adjustments by Estimate

### Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3861	0030	2 IN. PSST POST - 12 GA.	Material		1	Aug 15, 2022	SYSTEM	\$3,454.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ingral1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Aug 15, 2022	SYSTEM	(\$3,454.50)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0030 - Total							\$0.00	
	0040	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		1	Aug 15, 2022	SYSTEM	\$1,824.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ingral1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Aug 15, 2022	SYSTEM	(\$1,824.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0040 - Total							\$0.00	
	0050	SHF-FLAT SHEET FLUORESCENT	Material		1	Aug 15, 2022	SYSTEM	\$3,168.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ingral1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Aug 15, 2022	SYSTEM	(\$3,168.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0050 - Total							\$0.00	
J9S3861 ·	9S3861 - Total							\$0.00	
Overall -	verall - Total							\$0.00	